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| Semester B.Com. Examination, November/December 2016
(CBCS) (2014-15 and Onwards) (F + R)
COMMERCE
1.6 (b) : Methods and Techniques for Business Decisions

Time : 3 Hours Max. Marks : 70

Instruction: Answer should completely be eitherin English or Kannada.

SECTION-A

Answer any 5 (five) sub-questions, each sub-question carries 2 (two) marks : (5x2=10)

1.

a) What are irrational numbers ?

b) Write the meaning of quadratic equation.

c) Find HCF of 36 and 54.

d) What do you mean by bankers discount ?

e) Write the meaning of a matrix.

f) Define ratio.

g) Write the meaning of geometric progression with example.

SECTION-B
Answer any 3 (three) questions, each carries 6 (six) marks : (3x6=18)
2. Find the LCM of 32 and 48 and hence find their HCF (show steps).
3. Simplify by cross-multiplication method.
10x -9y =12
3x—-9y=17.
4. The sum of 3 numberin GP is 35 and their product is 1,000. Find the numbers.
10
0.5 0.5 0.0 0.0
20
5. f A=|10.3 0.0 0.2 01 , B = . Find AB.
25
1 0.1 0.2 0.5)3x4
50 |4 x1
6. 16 men or 28 women can do a work in 40 days. In how many days will 24 men

and 14 women complete the same work ?
P.T.O.
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SECTION-C
Answer any 3 (three) questions, each carries 14 (fourteen) marks : (3x14=42)

7. a) Theincome of A and B is in the ratio of 4 : 3 and their expenditure is in the ratio of 3 : 2.
If both of them save ¥ 6,000 at the end of each month find their respective monthly income.

b) Calculate the amount and interest on ¥ 100 for 20 years allowing the
compound interest at 5% p.a.

1 2 6
+——=—.
Xx-2 x-1 X
b) Divide 110 into two parts so that 5 times of one part together with 6 times of

the other-part will be equal to ¥ 610.

8. a) Solve by formula method

9. a) Labour cost ¥ 20 per hour per unit, material cost is ¥ 5 and one unit of

sub-contracted work costs ¥ 10. Find the total cost of manufacturing
3,000, 2,000 and 1,000 vehicles of type A, B and C respectively, given that

Vehicles Labour hours Material used Sub-contracted work

A 40 hrs. 100 units 50 units
B 80 hrs. 150 " 80 "
C 100 hrs. 250 " 100 "

Solve by matrix method.

b) Solve the following equations by Crammer’s rule.
10x + 5y =125
9x +12y =150

10. a) Findthe sum of all integers between 100 and 400 which are divisible by 7 (seven).

b) A class consists of member of boys whose ages are in AP. The common difference
being 4 months. If the youngest boy of the class be only 8 years old and the sum of
all the ages of all the boys in the class be 168. Find the number of boys.

11. a) Calculate the present value of an annuity of ¥ 5,000 per annum for 12 years
the interest being 4% p.a. compounded annually.

-5 7

b) Find the Adj of
_2 3

J and hence show that A(Adj A) = |A|.l.
2x2
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CIREYTIHTTR T YVT-TINIT N0, T3 YVT-TIN QT LoBNT:! (5%2=10)

1.

a) eyenow Fodned(irational numbers) ©omdemd ?
b) =ns Beoesdes (quadratic equation) om3eT0 ?

c) 36 =02354 SHCF @3& BOTOGEIOND.
d) 239,030% ZReR 0TTERd ?

e) BRUTS CHFE, WO,

f) SROTE 20w BEBR 9,23

g) MORREET Ferob LHF LOE YIRIBTHOD) V@,

QYN -

W

O3RN TTITTR TR @%ﬁ@ﬁ SUZ0R. B3 T, qm ¢330 20BN (3%x6=18)

2.

3.

Toa3, 32 e 48 TLCM sy HCF e 2om@o%Re00.

A DO ITITOOT B3 FINT ﬁmeézﬁwﬁ@@ﬁd@ﬁm@% :

10x -9y =12
3x—-9y =17.

2,000 MOFReET Zeed (GP) 01 w0t ﬁo@%ﬁ%ﬁ =g 35 =02 @@ﬁ@dg{ MO 20T
ero%?i 1,000 mﬂcgd e TORTD #o@%ﬁ@ﬁﬁg{ BOTBIEBEROD.

10
0.5 0.5 0.0 0.0
20
A=/03 0.0 0.2 0.1 , B=
25
1 0.1 0.2 0.5)3x4

50

AB 39,8577 30, BOmIEERCID.

4x1

2,00 BORTI), 40 OSTY 16 &E NMoEAT &5k 28 &S BONKTY FPEFRAYRWYTL.
0T3 50e6524 %3 MBI 33083 14 &3 TN Tde ORI I, DT Fpear TeeRIET ?
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NN -
CIRYTHTTR AT FINET YUZOR. B3 TINe 14 wosns: (3x14=42)

7. a) AR B oS0 mnag Smeod 4 3 R0mEmeNT) 0 SF 3 1 2 RS gtEs.
33 aa%dra 9B BR. 6,000 VLTI RWRBTS 223030 &3 ejmodaﬁa’% 2

b) ce. 100 g 20 BRENIT 380 5% 0T WHLER TODOF 2.3 FRT (Amount)
=02 W W (Interest) ojaaigL BOTBIEEROD.

1 2 6

+—— _=—.

Xx—-2 x-1 X

b) 5 300 %00 VLN, 6 L0 Qé@od& QPN B3 u%ﬁm@%dé’ 610 203003

023,110 ﬁi QTR LONIN VLI

8. a) RAST VFITOOT WNRTOY

9. a) A B C 0 snEsng eugamond 5060 s ﬁ?:g’s 2,003 NNoEdn T, 20, %zsgdd#gﬁ@ﬁ
=03,0R. 5 2= eu-T8n 53 . 10 ReaNc3d, 3,000 ‘A’ SRT0 @, 2,000
‘B’ S150 swEsnsd @30821,000 ‘C’ R3na@0 m%dﬁ@ﬁi SUTHDRO0 B0 283, em?gg
IR, B3 BN BREHPE 50 GUTO3RENR BIRYEGT DGONT UIT FOTEIRECD.

TREANY IRTO BT WRPT Ao R I R~

A 40 o 100 Pednsd 50 snsd
B 80 -"- 150 -"- 80 -"-
Cc 100 -"- 250 -"- 100 -"-
b) 93007 RORRZORT 84 IINT ﬁ@oeédsaﬁ%ﬁ?;g{ WRR.
10x + 5y =125
Ix + 12y =150

10. @) =0s3100 50t 400 T¥NS, Rosg 7 O0T HIRUTRS R TR 0B a3Z:3) Forsr000.

b) 2.0 IBNECDL DT HF MY oK (AP) Fe330088 3ee5030E) TS, Mo, WO
@080 4 0N BT, B T, SODRT VTYHF 8 [RFTH/INL FZY O
QTR PFNY BOPVT #08 168 13T, S BONS0I L83, DT,HFNY F02G, R, ?

11. a) 12 B=FnY oe. 5,000 S 33 (Annuity) 3, BROZ =P (Present value) &3
3T 4% ST WFLROIOT DABITTI 0L, FOTWOZECO.

-5 7
b) A= [ J 303, Adj 0 ? e A(Ad] A) = |A].l 0530 R edR.
-2 3)2x2




